2.17

(See Fluids in the News article titled “Giraffe’s blood pres-
sure,” Section 2.3.1,) (a) Determine the change in hydrostatic pres-
sure in a giraffe’s head as it lowers its head from eating leaves 6 m
above the ground to getting a drink of water at ground level as
shown in Fig. P2,i7. Assume the specific gravity of blood is
SG = 1. (b) Compare the pressure change calculated in part (a) 1o
the normal 120 mm of mercury pressure in a human’s heart,

ra) For hydrostatie pressure change,
X 4N 4N _ B
AP-—X‘){ et /?6’0—;”—,_)(6071) = 5-3.8)””,_— 588 kR

(b) 7‘; C&m/ar& k);%"b pPredsuve in humm hearé
Convert pressure 14 Part(a) fo mm Hg :
®V = (332Y )4
S G ” %4‘“& (=2 M"HH}
'Au; (0.442m)(10 ) = Y42 pnm Hy

Thus{ The pressyre dJﬂnye i The 51.r‘a-F‘Fe} head

Is  9Y2 mm ”1 G&mptre,( oty 120 mMH;g ™
the human heart. :
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